an "7 'on X3 paw L7'"o2
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Just like by his friend’s wife it is forbidden even when he is
wearing his garment and she is wearing her garment

OVERVIEW

The X713 cites a Xn*72 that since the P05 compares a friend’s wife to a 773,
we can derive that just as by ¥ nWX the rule is that 77322 X7 17322 X7 1s
prohibited, similarly by a husband and wife if she is a 771 the rule is that X7
77322 X1 17222 it 1s MOX. Our MdOIN discusses from where we derive that by
an YK DWX it is MOX even if 12117322 X117,
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And there, by 17¥7 YR, logic dictates that it is forbidden (even if 17322 X173
77322 X°M) because his evil inclination attacks him and greatly

overpowers him.
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And "1 explained that we know 121317322 X7 is 710X by 17v7 WX, because
even 77 with 177¥7 DWX is also RN3INRTM TIOK, so certainly 127 17322 X377 is MOK —

mooIn disagrees with >"w7:
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And mooin disagrees with this explanation. For according to *"vA it would
seem that the X123 wants to forbid 717 by a 772 and this is not true.’

mooIn asks:®
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Unox an o' ["w1 however, does not state *»1 7w 120X, merely 7707 2 7 12 10K87.] The o"nn
understands this to mean that the M0°X of 12117322 X171 is because of 717> MOR. The W"R77 Moo however
understands *"%1 to mean that since the 7710 forbids 71> by an X"X then there should be an 712771 MR by
45197322 X1 even if there is no T (if the door is open 2"77Y).

> We are deriving 773 from 151 nwX. According to *"wA that the prohibition by 1797 nwx is because of Mo
T (see previous footnote # 1 according to the 0"77n), it follows then that by 7171 there should also be an
T MoK, that the husband and wife cannot be alone in the same house. However the ruling is that there is
no 7 Mo°R with one’s wife who is a 17173 (see later in this n1v0N). It should therefore follow that (since we
do not derive 7> MO°X by a 771 from 71 MO°R by 1Y NwKR) we do not derive the Mo°X of 121 17322 X7 by
771 from Y7 NWX since it is (merely) an application of 7> MOX. See ‘Thinking it over’.

? However according to mooin that the 0°X of 17322 X7 by %w1 NwX is not referencing the 7> Mo°K, but
rather it is logical, therefore it applies to 7171 as well that 12117322 X177 is MOK, but we are not discussing 71".
* According to the 0"~ this question is on MO 5 (only). [According to *"wA both T and 17322 X7 are
XN 7R MOR.] However, according to the 7"mn (see footnote # 1) the question is on *"wA as well.
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It is astounding! Regarding 71> which is forbidden 707 32 (by nwx
1v7),” we do not derive 771 from 1 nwR, and so T is permitted by a

7171 (with her husband) -
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As it is written hedged in with roses; on the other hand -
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When he is 17322 and she is 777322 which is merely an j1297 79%9°X even
with an 2R nwR, this prohibition also applies to 1772 for we derive it from

the P37 (of 131 771 AWK X1 13 77 NWR NRY), this seems absurd -
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It would have been more appropriate to prohibit 79 by a 7771 from this

WP since T is an XN»IXT 0°K (by 17791 NWR) -
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And to permit 777332 K%Y 17332 X7 by a 7771 when there is no 773, for
instance, if the door (where they are together 771321 17322) is open to the
9'""519 (so there is no concern of T111). This should be permitted -
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based on the P05 of @"WW2a MW (since it is only an 11277 MO°R). NMOIN does not
answer the question.®

SUMMARY

According to "1 since T 1s MOX with 177 WX then certainly 12117322 X173
1S MY NWRA 7OXR. According to NM1OOIN, it 1s a X120 that 1371 17322 X7 1S MOX
since his (¥777) 7% is very powerful.

THINKING IT OVER

moon asks that >"wA seems to indicate that there should be an 71> 70X by
771.° Why cannot we say that *"wn agrees that 77 is permitted by a 771 (from
DWW 7310), however if it 1s 12117322 X177 which 1s nAX 7vn3, then we apply
the wp>r1 to forbid it even by a 771"

> The X% in 2,3 177730 derives from the p105 of (1,3 [AX1] ©127) 72K 12 TAX 70°0° *3 that T with any of
the N1y is MOR. (The son and his mother can be 717°°», but by other N1y, it is MOKX to have 77.)

S0

7 The X1 there explains that even if it is merely a hedge of roses it will prevent the Jewish people from
transgressing, and similarly by a 771 even though there is 71 they will not transgress the 771 *10°X. [The
term D3 (red roses) may allude to the 7171 07.]

8 See 7770 who answers that it is a 72 7Y 12127 2RI 217 PRY 7T

? See footnote # 2.

10 See anm nwb.
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